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-x d�;� 1d dE�� d��( dE1� dM 11�x dd�M
- dEn� d� d��1 dM�M dxd� d( 1��( ��1

qsAj� ;U qY� �B} JZs�, 8sRR�R P�B8 �Y� j$,�j$YBBI h�R �B �Y� �Y��� �B}BjB�${sj I$RT
��$AZ�$BtR BP �Y� n; j�}�BtL`��R {stI$Is�� �%�t�R� qY� y7VFeq ��dn �%�t� ��t��s�B�
$R ZR�I �B 8BI�j 0�0 I$R��$AZ�$BtR� VjRB RYBbt s�� �Y� tZ8A��R BP R$�tsj stI As{,T
��BZtI �%�t�R P�B8 �Y� h�R� qY� ���B�R Bt �Y� �-��s{��I 8sRR�R s�� I����8$t�I
P�B8 �Y� j$,�j$YBBI PZt{�$BtR b$�Y �Y� B�Y�� h��$t� }s�s8����R h-�I �B �Y�$� {�t��sj
%sjZ�R� qY�k s�� PB� ��P���t{� Btjk�
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3$�Z�� MU qY� As{,��BZtI {BtR��s$t�I h� ZR$t� �Y� <eiGyp x�� }�B��s8� 7YBbt
Y��� s�� �Y� �B}BjB�${sj I$R��$AZ�$BtR PB� {stI$Is�� �%�t�R wY$R�B��s8RD b$�Y �Y�
h���I I$R��$AZ�$BtR PB� 0�0 �%�t�R wIB���I {Z�%�RD� As{,��BZtI wIsRY�I {Z�%�RD stI
�Y� RZ8 BP �B} stI As{,��BZtI wRBj$I {Z�%�RD PB� �Y� Ix �-x stI- %s�$sAj�R� qY�
{B���R}BtI$t� t��s�$%� jB�s�$�Y8${ j$,�j$YBBI PZt{�$BtR s�� RYBbt Bt �Y� �$�Y�� qY�
tZ8A�� BP As{,��BZtI �%�t�R $R {BtR��s$t�I �B d�3E� 13E $t �Y� h�R�
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3$�Z�� �U qY� As{,��BZtI Zt{BtR��s$t�I h� ZR$t� �Y� <eiGyp x�� }�B��s8� 7YBbt
Y��� s�� �Y� �B}BjB�${sj I$R��$AZ�$BtR PB� {stI$Is�� �%�t�R wY$R�B��s8RD b$�Y �Y�
h���I I$R��$AZ�$BtR PB� 0�0 �%�t�R wIB���I {Z�%�RD� As{,��BZtI wIsRY�I {Z�%�RD stI
�Y� RZ8 BP �B} stI As{,��BZtI wRBj$I {Z�%�RD PB� �Y� Ix �-x stI- %s�$sAj�R� qY�
{B���R}BtI$t� t��s�$%� jB�s�$�Y8${ j$,�j$YBBI PZt{�$BtR s�� RYBbt Bt �Y� �$�Y��
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3$�Z�� d(U wsD qY� Ix I$R��$AZ�$BtR BP �Y� <eiGyp x�� wRBj$I Y$R�B��s8D stI �Y�
y7VFeq ��dn wIB���I Y$R�B��s8D 0�0 �%�t�R PB� s �B} JZs�, 8sRR BP d�( p�z\{1� wAD
qY� 8�st %sjZ� BP Ix sR PZt{�$BtR BP �Y� �B} JZs�, 8sRR PB� �Y� <eiGyp x�� wRBj$I
{$�{j�D stI �Y� y7VFeq ��dn wB}�t {$�{j�D 0�0 �%�t�R�

stI h���I I$R��$AZ�$BtR s�� RYBbt $t 3$�� dd PB� �Y� As{,��BZtI {BtR��s$t�I h�R stI $t 3$�� d1
PB� �Y� As{,��BZtI Zt{BtR��s$t�I h�R� 7$8$js� �B �Y� <eiGyp x�� 8BI�j� �Y� R8sjj�� tZ8A��
BP As{,��BZtI �%�t�R s�� }��P����I Ak �Y� As{,��BZtI Zt{BtR��s$t�I h�R� �Y� �B�sj tZ8A��R BP
�%�t�R P�B8 �Y� As{,��BZtI {BtR��s$t�I h�R �-{��I �Ys� BP �Y� BAR��%�I �%�t�R PB� sjj �Y���
%s�$sAj�R stI �Y� h�R �B �Y� Ix I$R��$AZ�$Bt Ys%� �Y� R8sjj�R� %sjZ�R BP � jtR� VR RYBbt
$t �Y� h�Z��R� �Y� RZ8R BP �Y� h���I y7VFeq ��dn stI As{,��BZtI I$R��$AZ�$BtR I�R{�$A� �Y�
I$R��$AZ�$BtR BP {stI$Is�� �%�t�R b�jj� W�%���Y�j�RR� $� $R $t����R�$t� �B }B$t� BZ� �Ys� �Y� h�
b$�Y <eiGyp x�� 8BI�j k$�jIR s R8sjj�� %sjZ� BP � jtR �Yst �Y� h� b$�Y y7VFeq ��dn 8BI�j PB�
sjj �Y��� I$R��$AZ�$BtR� qY� I$&���t{�R $t � jtR s�� s}}�B-$8s��jk (�x Zt$�R PB� 8BR� {sR�R�

E e��B� eR�$8s�$BtR

G� �R�$8s�� �Y� R�s�$R�${sj ���B�R Bt �Y� �-��s{��I E0 ZR$t� �Bt�� ]s�jB �tR�8Aj�R� qY�R�
�tR�8Aj�R s�� RZA`�{� �B �Y� Rs8� h��$t� }�B{�IZ�� I�R{�$A�I sAB%�� 3B� �s{Y �tR�8Aj�� �Y�
tZ8A��R BP �Y� 0�0 stI �Y� As{,��BZtI �%�t�R s�� sjjBb�I �B 4Z{�Zs�� s�BZtI �Y� �Y� {�t��sj %sjT
Z�R BP �Y� {B���R}BtI$t� h�R �B �Y� n; j�}�BtL`��R {stI$Is�� �%�t�R ZR$t� �Y� _B$RRBt R�s�$R�${R�
qY� As{,��BZtI �%�t�R s�� ��t��s��I ZR$t� �Y� R8BB�Y�I As{,��BZtI I$R��$AZ�$BtR I$R}jsk�I
$t 3$�� � stI �Y� 0�0 I$R��$AZ�$BtR s�� R$8Zjs��I ZR$t� �Y� $t���}Bjs��I }�BAsA$j$�k PZt{�$BtR
RZ{Y sR �YBR� RYBbt $t 3$�� ;uE� VR st �-s8}j�� 3$�� dnwsD RYBbR �Y� E0 I$R��$AZ�$Bt �-��s{��I
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3$�Z�� ddU qY� As{,��BZtI {BtR��s$t�I h� ZR$t� �Y� y7VFeq ��dn }�B��s8� 7YBbt
Y��� s�� �Y� �B}BjB�${sj I$R��$AZ�$BtR PB� {stI$Is�� �%�t�R wY$R�B��s8RD b$�Y �Y�
h���I I$R��$AZ�$BtR PB� 0�0 �%�t�R wIB���I {Z�%�RD� As{,��BZtI wIsRY�I {Z�%�RD stI
�Y� RZ8 BP �B} stI As{,��BZtI wRBj$I {Z�%�RD PB� �Y� Ix �-x stI- %s�$sAj�R� qY�
{B���R}BtI$t� t��s�$%� jB�s�$�Y8${ j$,�j$YBBI PZt{�$BtR s�� RYBbt Bt �Y� �$�Y�� qY�
tZ8A�� BP As{,��BZtI �%�t�R $R {BtR��s$t�I �B d�3E� 13E $t �Y� h�R�
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3$�Z�� d1U qY� As{,��BZtI Zt{BtR��s$t�I h� ZR$t� �Y� y7VFeq ��dn }�B��s8� 7YBbt
Y��� s�� �Y� �B}BjB�${sj I$R��$AZ�$BtR PB� {stI$Is�� �%�t�R wY$R�B��s8RD b$�Y �Y�
h���I I$R��$AZ�$BtR PB� 0�0 �%�t�R wIB���I {Z�%�RD� As{,��BZtI wIsRY�I {Z�%�RD stI
�Y� RZ8 BP �B} stI As{,��BZtI wRBj$I {Z�%�RD PB� �Y� Ix �-x stI- %s�$sAj�R� qY�
{B���R}BtI$t� t��s�$%� jB�s�$�Y8${ j$,�j$YBBI PZt{�$BtR s�� RYBbt Bt �Y� �$�Y��
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P�B8 �Y� As{,��BZtI Zt{BtR��s$t�I h�R �B �Y� Ix I$R��$AZ�$BtR BP �Y� d�((( �tR�8Aj�R� qY�R�
�tR�8Aj�R s�� ��t��s��I b$�Y st $t}Z� E0 BP d�( p�z\{

1� qY� I$R��$AZ�$Bt YsR s 8�st BP
d�(�� p�z\{1 stI s b$I�Y BP dM�n p�z\{1� qY� b$I�YR BP �Y� I$R��$AZ�$BtR BP �Y� �-��s{��I
8sRR P�B8 �Y� �tR�8Aj�R s�� �k}${sjjk s�BZtI 1d p�z\{1 PB� �Y� As{,��BZtI {BtR��s$t�I h�R
stI s�� sABZ� dM p�z\{1 PB� �Y� As{,��BZtI Zt{BtR��s$t�I h�R� qY�R� b$I�YR s�� sRR$�t�I sR
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3$�Z�� dnU wsD qY� I$R��$AZ�$Bt BP �Y� �B} JZs�, 8sRR �-��s{��I P�B8 �Y� As{,��BZtI
Zt{BtR��s$t�I h� �B �Y� Ix I$R��$AZ�$BtR BP �Y� d((( �tR�8Aj�R b$�Y st $t}Z� �B}
JZs�, 8sRR BP d�( p�z\{1� qY� �tR�8Aj�R s�� ��t��s��I ZR$t� �Y� R8BB�Y $t���T
}Bjs��I }�BAsA$j$�k PZt{�$BtR� wAD qY� I$&���t{�R A��b��t �Y� 8�st %sjZ�R BP �Y�
�-��s{��I �B} JZs�, 8sRR BP �Y� �tR�8Aj�R stI �Y� $t}Z� �B} JZs�, 8sRR sR PZt{�$BtR
BP �Y� $t}Z� 8sRR� qY� �tR�8Aj�R s�� ��t��s��I ZR$t� �Y� Zt$t���}Bjs��I }�BAsA$j$�k
PZt{�$BtR� qY� h�R s�� As{,��BZtI {BtR��s$t�I�

qY� Zt{���s$t�k Bt �Y� �-��s{��I 8sRR IZ� �B �Y� R8BB�Y$t� stI �Y� $t���}Bjs�$Bt {st A�
�R�$8s��I Ak {B8}s�$t� �Y� $t}Z� 8sRR BP �Y� �B} JZs�, b$�Y �Y� 8�st %sjZ� BP �Y� I$R��$AZ�$Bt
BP �Y� �tR�8Aj�R ��t��s��I ZR$t� �Y� ZtR8BB�Y�I stI Zt$t���}Bjs��I }�BAsA$j$�k PZt{�$BtR BP
�Y� 0�0 stI �Y� As{,��BZtI �%�t�R� 3$�� dnwAD RYBbR �Y� I$&���t{�R A��b��t �Y� $t}Z� 8sRR�R
stI �Y� 8�st %sjZ�R BP �Y� �-��s{��I 8sRR sR s PZt{�$Bt BP �Y� $t}Z� 8sRR PB� �Y� As{,��BZtI
{BtR��s$t�I h�R� qY� js���R� I$&���t{�� n�; p�z\{1� $R {BtR��%s�$%�jk sRR$�t�I sR s RkR��8s�${
���B�� qY� ��RZj�R P�B8 �Y� As{,��BZtI Zt{BtR��s$t�I h�R stI PB� �Y� B�Y�� �bB %s�$sAj�R s��
R$8$js� stI s�� tB� ��}�s��I Y����

qY� �&�{� BP �Y� �t���k R{sj� Zt{���s$t�k $R R�ZI$�I Ak ��}�s�$t� �Y� h�R �B �Y� BAR��%�I
n; j�}�BtL`��R {stI$Is�� �%�t�R sP��� ��R{sj$t� �Y� `�� �t���$�R BP �Y� �Bt�� ]s�jB <eiGyp x��
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3$�Z�� d;U qY� %s�$s�$BtR BP �Y� �B} JZs�, 8sRR �-��s{��I P�B8 �Y� As{,��BZtI
Zt{BtR��s$t�I h�R �B �Y� Is�s sR PZt{�$BtR BP �Y� `�� �t���k R{sj� PB� �Y� �Y���
�B}BjB�${sj %s�$sAj�R� qY� <eiGyp x�� }�B��s8 �%�t�R s�� ZR�I �B 8BI�j�I �Y� 0�0
I$R��$AZ�$BtR�

0�0 stI ze] !7 GL`��R �%�t�R� 3$�� d; RYBbR �Y� ��js�$%� %s�$s�$BtR $t �Y� �-��s{��I 8sRR PB�
st �t���k R{sj� �st�$t� P�B8 (��( �B d�d( PB� �Y� As{,��BZtI {BtR��s$t�I h�R� qY� ��js�$%�
%s�$s�$BtR s�� s}}�B-$8s��jk st�$u{B���js��I b$�Y �Y� �t���k R{sj� j$t�s�jk� qY� ��RZj�R P�B8
�Y� As{,��BZtI Zt{BtR��s$t�I h�R s�� %��k R$8$js�� 3B� s ;0 �t���k R{sj� Zt{���s$t�k JZB��I
Ak �Y� �B} 8sRR ��BZ}� �Y� Zt{���s$t�k Bt �Y� �-��s{��I 8sRR $R s}}�B-$8s��jk ;�x0�

=t{���s$t�$�R $t 8BI�jj$t� �Y� 0�0 }�BIZ{�$Bt stI �Y���sP��� �Y� }�BAsA$j$�k PZt{�$BtR BP �Y�
0�0 �%�t�R s�� stB�Y�� RBZ�{� BP RkR��8s�${ ���B�� 3B� �s{Y %s�$sAj�� b� s%��s�� �Y� I$&���t{�
$t �Y� �-��s{��I 8sRR ZR$t� �Y� <eiGyp x�� stI y7VFeq ��dn 8BI�jR A��b��t �Y� As{,��BZtI
{BtR��s$t�I stI Zt{BtR��s$t�I h�R� qY� s%��s��I I$&���t{� bY${Y %s�$�R P�B8 n �B � p�z\{1

$R sRR$�t�I sR s RkR��8s�${ ���B� P�B8 �Y� 8BI�jj$t� PB� �Y� %s�$sAj�� 3$tsjjk� �Y� Zt{���s$t�$�R
IZ� �B �Y� RYs}�R BP �Y� As{,��BZtI I$R��$AZ�$BtR s�� R�ZI$�I Ak ZR$t� I$R��$AZ�$BtR P�B8
d((0 GL`��R �%�t�R stI Ak ZR$t� I$&���t� R8�s�$t� ��{Yt$JZ�R� qY� R�ZI$�R RYBb �Ys� �Y�
As{,��BZtI Zt{BtR��s$t�I h�R s�� 8B�� R�tR$�$%� �B �Y� RYs}�R BP �Y� As{,��BZtI I$R��$AZ�$BtR
�Yst �Y� As{,��BZtI {BtR��s$t�I h�R� V I$&���t{� sR js��� sR ; p�z\{1 $t �Y� �-��s{��I 8sRR
$R BAR��%�I PB� �Y� As{,��BZtI Zt{BtR��s$t�I h�R� qY$R I$&���t{� $R sRR$�t�I sR }s�� BP �Y�
RkR��8s�${ ���B��

qsAj� x RZ88s�$9�R �Y� I$&���t� RkR��8s�${ ���B�R PB� �Y� �Y��� %s�$sAj�R� qY� �B�sj RkR��8T
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7BZ�{�R BP zs�$sAj�
RkR��8s�${ ���B�R Ix -x -

et���k R{sj� Zt{���s$t�k M M M
�Bt�� ]s�jB 8BI�j n M �
yt���}Bjs�$Bt A$sR n n n
 s{,��BZtI RYs}� Zt{���s$t�k ; ; ;
qB�sj d( d1 dn

qsAj� xU  ��s,IBbt BP �R�$8s��I RkR��8s�${ ���B�R Bt �Y� �-��s{��I 8sRR�R BP �Y�
�B} JZs�, PB� �Y� �Y��� %s�$sAj�R�

zs�$sAj� E0 wp�z\{1D
 s{,��BZtI {BtR��s$t�I  s{,��BZtI Zt{BtR��s$t�I

Ix d�M� 1d � d( d�(� dM� d(
-x dM1� 1d � d1 d�d� dM� d1
- dE�� 1( � dn dEn� dE� dn

qsAj� EU qY� 8sRR BP �Y� �B} JZs�, �-��s{��I P�B8 �Y� Ix �-x stI- I$R��$AZ�$BtR
BP �Y� n; j�}�BtL`��R 0�0 {stI$Is�� �%�t�R� qY� h�R� ���B�R s�� R�s�$R�${sj stI �Y�
R�{BtI ���B�R s�� RkR��8s�${�

s�${ ���B�R I��$%�I Ak sII$t� $tI$%$IZsj ���B�R $t JZsI�s�Z�� s�� d(� d1 stI dn p�z\{1 PB� �Y�
8sRR�R I����8$t�I P�B8 �Y� Ix � -x stI - I$R��$AZ�$BtR ��R}�{�$%�jk� qY� �B} JZs�, 8sRR�R
wb$�Y �Y�$� R�s�$R�${sj stI RkR��8s�${ ���B�RD �-��s{��I P�B8 �Y� �Y��� %s�$sAj�R s�� �sAZjs��I
$t qsAj� E� qY� {�t��sj %sjZ�R BP �Y� 8sRR�R s�� �s,�t P�B8 �Y� ��RZj�R BP �Y� h�R ZR$t� �Y�
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